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- Z714) : 120kg/nd

2o | HA | e [RERL] SCR
Seuse gres(c) | 97es()

‘984 38 7Y 2,072 40,568 2263 3064
8| 202 | 384% | o6 3068

91 2010 36,438 2675 307.0

0] 203 | 37 | 235 3050

] 1o | e | 2658 3050

12| 1898 | 438 | 2656 3050

] 1% | wws | o7 3051

B 2| i | %2 | 262 3058

(1) Wh&7h2%F © 36297Nni/he

- HEHY $3E7] $F ¢ 250Nm/r(Aheke] e
2 A-g)

- HEMUY Y- F7F 1 B79Ni/hr

2) 9EHY Y17F 524 SRR

- 33797 x (3068-2662) x 0312 + (10500x09x082)
5391 /hr = 12041 /¥

(3) HEHUY, $7] 4% 24 T

- 2500 x (3068-20) x 0312 <+ (10500 x 09 x 082)
2881 /nr = 6911 /Y

4 @+@3) =129 + 69l = 1985 1/d

I

n}) ASARSEF AEIA

1) 9EHY YF2% AUCE 10CE Lled 2
Sk g
- =M-Cp- AT
- Cp : 0312ka/mi'C

- AT (150-20C)

5b

"M 43 x 60 = 2580Nmi/nr(EE7] AR
= 2500Nn/hr
- Q = 2500 x 0312 x 130C = 101400ksl/hr
2) Za38 SHAMEE
-Q=m-Cpx &
‘m S AREE
Cp @ 582 210500k ke, H]S 082)
-HEBY 38 9%
- 101400ka/hr = m x 10500kal/kg x 09
-m = 107kg/hr + 082ke/ | = 131 /hr = 3121/

uh) F2p] (171 71€)

&5 ool | 4% | 293 b 3
EdEE e 1 | SET | 3500000
DUCT PPING & 1 | LOT | 4000000
TEMP CONTROL SYSTEM | 1 | SET | 3000000
INSULATION(75Y) 1 | SET | 2500000 g8
ARl 11 A | 5000000 | (150,000m/hr)
7|EH SR 1| A | 1300000
7|EH 2| 1| A | 1950000
A 21,250,000

Ab) R A, 5 ERas

SCRE2 918 FENY A28F/E 27 ¥

s T — =
AE = 2718 o)&s] 7tz 28 ASLIEE
M A7 5004 Y Axe R 2 A7) AHE]HE-
Azt
(&) EXM| 3712t
- - S
3} =
&= 4z ITEAN | 218
A7bsZioNe) | 3120 /2 x 5008/ x 316%/3 50,024 100,048
=R 274 27| i 1 21250 | 42500
ExmIEe | 21250 + 50024) x 12 = 5 514 5171




